Mid-Chapter Quiz: Lessons 3-1 through 3-4

Solve each system of equations.

2x=3y=9
"4x+3y=9

ANSWER:
3 -1)

X+
y=

o

y=7
=2

ANSWER:
(13)

-x 4+ y=2

"4x-3y=-3

ANSWER:
(3,5)
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;x+§y=T

4.; 5
—-X——y=-2

5 3 -

ANSWER:
(10, 6)

Solve each system of inequalities by graphing.

r+y=4

y=x

ANSWER:
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2x+3y=>12

"3x-y<2l

ANSWER:
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x=y=0

T4+ y<2x

ANSWER:
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2y=5x<6

Tdx+y<—4

ANSWER:
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Mid-Chapter Quiz: Lessons 3-1 through 3-4

9. MULTIPLE CHOICE Which statement best
describes the graphs of the two equations?

10.

11.

12.

13.

X+4y =8

X+12y =2

A The lines are parallel.
B The lines are the same.

C The lines intersect in only one point.
D The lines intersect in more than one point, but are

not the same.

ANSWER:
A

Solve each system of equations.

x=2y+3z=1
dy—d-=12

Byv—14z=10

ANSWER:
374

x+y+z=4
x+3v+3z=10

~

2x+y—z=3

ANSWER:
(1,21)

2x—y-2z=3

[0x+8z=-4
Jx—y=]
ANSWER:
(2,5,-3)
2x43y+z=0
Ix+yv=]
x—2y+:z=9

ANSWER:
(1,-2,4)
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14. MULTIPLE CHOICE Seela rented a raft from
River Rafter’s Inc. She paid $100 to rent the raft and
$25 for each hour. Martin rented a raft from Oscar’s
Outdoor Shop. He paid $50 to rent the raft and $35
per hour. For what number of hours will both rafting
companies charge the same amount?

Fo

G4
H5
J10

ANSWER:
H
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Mid-Chapter Quiz: Lessons 3-1 through 3-4

15. CARPENTRY Cal’s Carpentry makes tables and Graph each system of inequalities. Name the
chairs. The process involves some carpentry time coordinates of the vertices of the feasible
and some finishing time. The carpentry times and region. Find the maximum and the minimum
finishing times are listed in the table below. values of the given function.

52ya2-3
Campentry | Finishing dx+y<s
1o | Time () | Time e 7 oesyss
chair 3 0.5 ; Nedx_3y
table 2 1 flev)=4x-3
ANSWER:
Cal’s Carpentry can work for a maximum of 108 1
carpentry hours and 20 finishing hours per day. The - ' -
profit is $35 for a table and $25 for a chair. How ] ]
many tables and chairs should be made each day to
maximize profit?
a. Using c for the number of chairs and t for the —
number of tables, write a system of inequalities to —“—‘]‘-‘ : \‘? ik
represent this situation. 1 -2 ' !
b. Draw the graph showing the feasible region. '{ I x ™
C. Determine the numbgr qf tables._ and cha_lrs that vertices: (—4, —3), (0, 5), (2, —3): max:f (2, —3) = 17;
need to be made to maximize profit. What is the . -
. . min:f (0, 5) =-15
maximum profit?
ANSWER: xz-10
a cz20 =03+ 2r < 10805 +¢ < 20 12y2-6
b_.'._..__. S 18. 3x+4y=-8
i
N 2y2x-10
1N fxy)=2x+y
04— l\i_ 1 I e e
o ANSWER:

» e
2 N

= 1 Nl 1 —1I|-B-ﬁwd-& 2 4 61
.\ | e
of [ 10 20 [ 30 [WONws0 [C :i 11 |
C. 34 chairs and 3 tables will give a maximum profit F = K11
of $955. e \
16. DRAMA O i ight of the d lub’s pl ALY N
. n opening nignt of the drama club’s play, vertices: (~10, 1), (~4, 1), (2.4, —3.8), (-2, —6), (10,

they made $1366. They sold a total of 199 tickets.
They charged $8.50 for each adult ticket and $5.00
for each child’s ticket. Write a system of equations
that can be used to find the number of adult tickets
and the number of children’s tickets sold.

ANSWER:

a+c=199
8.50a + 5.00c = 1366

-6);
max:f (2.4, —3.8) = 1; minf (-10, —6) =26
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Mid-Chapter Quiz: Lessons 3-1 through 3-4

19. GEOMETRY An isosceles trapezoid has shorter
base of measure a, longer base of measure c, and
congruent legs of measure b. The perimeter of the
trapezoid is 58 inches. The average of the bases is 19
inches and the longer base is twice the leg plus 7.

a. Find the lengths of the sides of the trapezoid.

b. Find the area of the trapezoid.

ANSWER:
a.a=11in, b=10in, c=27in.
b. 114 in’
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